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This question paper contains 34 questions.

Marks are indicated against each question.

Answers should be brief and to the point.

Answers to the questions carrying 3 marks may be from 50 to 75 words.
Answers to the questions carrying 4 marks may be about 150 words.
Answers to the questions carrying 3 marks may be about 200 words
Attempt all parts of the questions together
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SORT — IT Ltd.’ is a leading software development company. The company is
satisfying the diverse needs of its employees. Its employees are given competitive
salaries and perks. They have been given chance for their personal growth and
development. For harmony in the organization management has to reconcile
personal goals with organizational objectives.

Identify the objective of management being met by ‘SORT-IT Ltd.’

(a) Social

(b) Personnel

(c) Organisational

(d) Both Social and Personnel.
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A manager obtains the required capital at 12% interest while the prevailing rate
of interest happens to be 10%. How would you describe such a manager?

(a) Efficient

(b) Ineffective

(c) Efficient and Effective

(d) Inefficient.
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Ram Murty, a Professor of Management conducted a class on ‘Management
principles’ and explained to his students the significance of Management
Principles. In the next class, the Professor asked his students to play roles of
different managers. He gave them various situations and asked them to think
like managers and provide solutions to the problems given in these situations.
Each student applied the principles of management to the given situation in his
own personalized manner, depending upon his creativity.

The nature of management highlighted in the above case is :

(a) Management as a Science

(b) Management as an Art

(c) Management both as an Art and as a Science

(d) Management as a Profession.
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Pioneer Ltd. is dealing in fruit juices and hair oils. To ensure unity of action and
coordination, it has made two separate divisions for each product. Each division
has its own in charge, plans and execution resources. Thus, both the divisions are
moving towards the same objectives through focused efforts. Identify the
Principle of management followed by Pioneer Ltd. in the above case.

(a) Esprit de corps

(b) Equity

(c) Unity of Direction

(d) Authority and Responsibility.
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Terrorism in Jammu and Kashmir has badly affected tourism industry in the
state. Name the environment highlighted in above statement.

(a) Social Environment

(b) Political Environment

(c) Legal Environment

(d) Technological Environment.
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Several initiatives have been undertaken by the Government of India to
encourage domestic manufacturing and export of defence equipment. ‘Make In
India’ in Defence, was one such scheme launched by the Government to
encourage companies across the world to manufacture defence products in
India. To which dimension of business environment does the above case relate
to?

(a) Economic Environment

(b) Legal Environment

(c) Political Environment

(d) Social Environment.
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Under the Reserve Bank keeps control on the money supply in
order to achieve the objectives of the general economic policy.

(a) Fiscal Policy

(b) Monetary Policy

(c) Trade Policy

(d) Industrial Policy.

AT IF AT F egeat A ured WA & o % dgd
Red e #ar Ingfd ) AT W@ gl
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aims at creating an organisational structure, clarifying jobs and
working relationships and effectively deploying resources for the achievement of
desired organisational goals.
(a) Staffing
(b) Organising
(c) Planning
(d) Controlling.
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The first step of organising process is:
(a) Granting authority

(b) Establishing reporting relationships
(c) Identification of activities

(d) Grouping of activities.
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Faulty translations may transfer wrong messages’ is an example of:
(a) Psychological/emotional barriers of communication

(b) Semantic barriers of communication

(c) Organisational barriers of communication

(d) Personal barriers of communication.

aIYqUT 3fe7dTe Telc HE FUAARA HY Hebcl & HAI Teh 3ETEXUT &
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Which of the following statements is correct?

(a) Planning and controlling are the essentially one and the same.

(b) Controlling is the part of the planning process.

(c) Controlling can be a substitute for planning.

(d) A control process is meaningless without predetermined goals set.
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12

Which of the following is an objective of SEBI?

(a) Training of intermediaries of securities market

(b) Protecting the rights and interest of investors

(c) Promotion of fair practices and code of conduct in securities market
(d) Levying fees/charges for carrying out the purpose of the Act.

fAFATf @ # & T Al & T 3652T 72
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Which of the following is the first step in the trading procedure?
(a) Placing an order

(b) Open a Demant Account

(c) Agreement with a broker

(d) Settlement of account.
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14 Which of the following is a function of Stock Exchange?
(a) Pricing of securities
(b) Providing scope for speculation
(c) Safety of transactions
(d) All of these.
Afaf@ad & O i Tele TaFasl &l F §?
(31) wfcegfarat @ Fe faeiRor
(§) 3ehell & AT TS TeTed Il
(&) St T GRET
@) & Gl
15 is the market for short-term funds meant for use for a period of up to
1 year.
(a) Capital market (b) Money market
(c) Financial markets (d) None of these.
1 a¥ d& FI 379 & T 3UAET HI S dlell AeThliod AT
HT SR &l
(31) Yair STeIN (&) T SR
@) fad IR (@) ST & HIS Igl
16 Which of the following is not a characteristic of a good brand name?
(a) Distinctive (b) In local language
(c) Short and simple (d) Sufficiently versatile.
fArIfaf@d & & Fld Uk 3eS 918 ATH T [FAVar =gr 82
(37) fafArse (F) TAAT AT H
(@) oY AR W () 9aTed T § SgAE!
17 There are levels of packaging.
(@)1 (b) 3
(c) 2 (d) 4
Sepfatar & TR B &
(31) 1 () 3
(#) 2 (@) 4
18 Amazon and Flipkart sell goods through:
(a) Direct channel of distribution.
(b) One level channel of distribution.
(c) Two level channel of distribution.
(d) Three level channel of distribution.
AT 3R Fogeae & ATETH F I1FT 99 8
(37) TqaRoT &1 Hrem At |
(&) TIROT &1 Th ER AeTd|
(@) TAROT & g FET AT |
@) AT & i 0T A
19 Which marketing management philosophy had a main focus on costumers’




needs and well-being of the society?
(a) Production concept

(b) Sales concept

(c) Marketing concept

(d) Societal Marketing concept.

fore AR TaereT gt T HET BIihE HIECTAA N STl A FATS
Fr S W AT?

(37) 3cUTEsT TUROT

(&) fsshr 3raemom

(@) 9ot rayron
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20 Which of the following statement is incorrect?
(a) Marketing and selling are two different terms.
(b) Marketing is a social process.
(c) A consumer purchases a product only if it is perceived to give greater benefit

or value for money.
(d) Marketing activities start with the development of a product.
fAIfaf@d & & Sl a1 HUT Ted g2
(37) TaquTeT 3R TSshr @b 37cler-37eleT 2reg & |
(@) a9t e arATfSs 9fshar g
(@) I 3uFar R 3curg I @liear & S9 Ig AT AT § F 98
318 STeT A1 A FT Hed ST Bl

(&) fa9orer arfafafer fell Scure & faere & |y P& gl |

21 Ashutosh Goenka was working in ‘Axe Ltd.’, a company manufacturing air
purifiers. He found that the profits had started declining from the last six
months. Profit has an implication for the survival of the firm, so he analysed the
business environment to find out the reasons for this decline.
(@) Identify the level of management at which Ashutosh Goenka was working.
(b) State three other functions being performed by Ashutosh Goenka.
MY NG VIR FUABRR Tl dlell Huell Ty faffies' &7 HRRa |
3ogie arm o Uod o Al § HArh & TREe g% g 75 A A &
37edca & fow oy =1 [ARary g, safov 37519 59 Airae & RN &1
TdT @l & folT SRIGRT Agle S fagevor forar|
(37) 99U & 3H TR AT T R ST IR IMR[AY INIeART HFH HT

|
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22 Distinguish between primary and secondary markets.

OR
Differentiate between money market and capital market.

wrafae 3R gfadas SRt & & AR &
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Ramesh is working under the guidance of Harish, a carpenter, for the last three
years to learn the different skills of this job. Name and explain the method of
training Ramesh is undergoing.

AT 39 AR F [AffeT Pl faa & v Rod e auf & o3, gder
& AT H F1H Y @7 &1 AT & gfRveqor & [/ w1 a7 3k carear
NI
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“Controlling is looking back”. Explain.

OR
Explain the relationship between controlling and planning function of
management.

"fAFoT fIY HgRe SW T B HASTET
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Ruchin approached Thomas Book, a Tour and Travel Company, to inquire
about Europe tour packages available during summer vacations. The tour
coordinator, Rahul, mentioned five different packages with different
combination of number of day/night packages. He selected one package of
combination of Switzerland and Paris for 6 night/7 days and completed the
procedure for the tour by submitting all the necessary documents along with the
payment. He also asked about category of hotels (3 star or 4 star), climate of the
touring countries, currency of these countries, date of departure, name of the
flight, any precaution to be taken, etc.

(a) Identify and describe the consumer rights which Ruchin availed above.

(b) Mention any two responsibilities that a consumer should always keep in his
mind while purchasing any good or availing service.

ST o Ueh €T US gdol huell UAE goh @ U T, clich el b
oefedl & NI 3Teey I X el & aR H IBdS & o Fhl I
FIHIEACR Tgel o RARTT & Yool BT HeaT & Faffeet TSl & @
9 3TelT-37e19T Yehall T ool [Tl 3wy 6 /7 feat & faw
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How do ‘Choice of Technique’ and ‘Nature of Business’ affect the ‘Fixed
Capital’ requirements of a company? Explain.

OR
Explain briefly any four factors that affect the working capital requirement of a
company.
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Aarav was working as a supervisor with ‘Neer Purifier Ltd.” which was
producing water purifiers. The target of the company was to produce 200 water
purifiers every day. His job was to make sure that work goes on smoothly and
there was no interruption in production. To achieve this, he always gives orders
and insists that they are obeyed. He believes that reward or punishment both can
be given depending upon the performance.
Identify and describe the leadership style being adopted by Aarav.

OR
Explain Maslow’s need hierarchy theory of motivation.

3RT dTe} GUBRR Tl dlell ‘@R FUGRR fafacs & guiagsr & dk
W HH A TG AT| oA A o6 Fidafeed 200 drey GHBRR Felled i
AT IHHT HH Ig GlARYA HeA AT fob A FarE &7 F el 3R 3cdea
H FIS TP o T S/ Yied il & [T, gg gHLAT 3T ST & 3R SR
&ar g T 37T greie fohar U] 37T AT § 6 9edle & YR oY
SITH IT Hall gt feu ST weahd &
NG SRT HYATS ST @ AAcca Aol T Tgdlel AR IHHT aue Y|

a7
UROTT o AT i 3TGeTehdl YeTeshd fHeHIa $i sarear #i|
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ABC Ltd. is thinking to modernize its Plant and Machinery. It would require a
huge expenditure. Mr. Beniwal, Finance Manager of the company has to
estimate how much funds would be required and also from where to raise these
funds. Mr. Beniwal wants that the funds should be available at just the right
time. The profits of the company are high and cash flows of the company were
very stable despite the fact that the economy is in a bearish phase. The
management has asked Mr. Beniwal to decide the source of raising the funds
however they want to retain control over the business.
(a) Name the process which will help in estimating the fund requirements at the
right time.
(b) Which source should the company opt for, debt or equity.
Justify your answer by giving two reasons in support of your answer.

Tardr fafAes ue d@3F 3R AN A 3MYfieh ST S @ @ gl
sg% forw ol @d fr 3maeTFar gl FUer & fod gaers 4 Ssiarer Fr
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Himesh is working as a supervisor in a company. Due to his hard work, he is
promoted to the post of Production Manager. Now the post of supervisor is
vacant and no one can be transferred or promoted to this post. Name the source
of recruitment the company will use to fill up this post. State any three
advantages of using this source of recruitment.

R Teh &l H FURAGR & Ug W HRRA &1 3! Hsl Ageld &
PRUT 3o¢ WSFAT HeAoR b UG W UGleoTd [ohdT AT g1 3 gIdeTeh T
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Tl &1 30 I8 FT el & [T FHUeAl GaRT 3TART ST ATl dTell HAT &
BT & AT IABT| AT & ST AT T 3G Il & Theal dled ATHT T
ool ST
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Give the name of the barrier mentioned through the following statements:

(a) These are concerned with problems and obstructions in the process of
encoding and decoding of message into words or impressions.

(b) A worried person cannot communicate properly and an angry receiver
cannot understand the real meaning of message.

(c) Factors relating to organisation structure, authority relationships, rules and
regulations may act as barriers.

(d) Personal factors of both sender and receiver may exert influence on effective
communication.

Arafaf@a suat & acgs @ 3feaf@a @ty &1 a5 &

(37) ¥ TSR &I Asal IT BIUT H Toohifadr 3R SIS Fr ufsear &
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Subramanium & Co., an Aggarbatti manufacturing company in Bengaluru,
have two offices in the city within 10 km area. It manufactures Aggarbatties
under the brand name ‘Aeroplane’. It is famous for its sandal and rose flavoured
Aggarbatties.

Mahesh and Rahul are accountants in each of the office having same
gualification and work on the same post and perform same nature of work. In
spite of that, Mahesh is getting salary of X 20,000 and Rahul is getting X
16,000 per month. There is no logic behind this difference in salary.

Management is also frustrated when they see that staff relating to production
department is wasting its time in gossiping with sales department and members
of sales team sitting in finance department. People and materials are not in




suitable places.
(a) Mention the Fayol’s principles of management violated in the given company.
Also give one advantage of principles identified in above (a)
(b) Explain the principle of Espirit De Corps.
OR
Briefly explain any three of the following principles of management given by
Henry Fayol:
(i) Unity of command
(i1) Order
(iii) Equity
(vi) Subordination of individual interest to general interest.
GIHUIH US HUeAl, S9Tee H Teh IR [FHATOT shuedt, g & 10 fohely &1
H 2 FETeT § I8 "TIRTIHT §8 A1H & dgd IR dATdr &1 Tg 9T
st 3R Ielld & Fdle dlell 3RS & foav gfdey &
HLY IR TET TS FRATRT H AT AT Tl JWHR g 3T T &
Ug W H A § AR A TP F1 S Fd §| SHF dase HeU H
% 20,000 3R g Hr 216,000 FidATE dd=T AT @7 ¢ a0 # 58 AR
& 9IS *lg d ol gl
gater 3 oRrer § 519 9 ¢@d ¢ fh 3cdrea fasmmer & deafea saanr foshr
fomeT 3R o amer & s 9T &3 & Teedr & ATy I9AT H 39T
THY deile Y T§ 81 @1 3R Gl 3uged TUE @) OAg g
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1
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(&) 31Tsh e
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@) AT Rd & fau afederd fga &r 3refiaan|
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Ferro Ltd., manufactures scooters, is facing a lot of problem of declining market
share due to increased competition from the new and existing players in the
market. Its competitors are introducing low priced model for price sensitive
customers and scooters with added features and technological advancements for
guality conscious?

(a) Which type of plan should be formulated by Ferro Ltd.? What can be the
derivative plans?

(b)What can be the limitations of this plan?

(c) How can these limitations be removed?

B TAfAS, TheX Sl 8, IR & 0 3R Aler [@enfsat & dedr
gfaeael & #RoT I9R el & frae fr w1hr @ &1 i =T &
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Anjali is manager in a reputed advertising company. Volume of business is

increasing day-by-day. Accordingly, her workload is also increasing in the same

proportion. She has almost 10 to 15 varieties of work to handle due to which she

cannot concentrate on the most important matters. She requires a person who

can share her burden so that she can restrict activities which she herself could

do.

(a) What should Anjali do to reduce her burden?

(b) After the above concept, will she be accountable for the performance of the
assigned tasks?

(c) Discuss the elements of given concept.

eifar u ufafed e suer § AaeR §1 AR fir #AEr Rd-a-Ket

TG ST W ¥ W F 3T o @1 AT HY 3A AT F 9¢ @ &1 3T
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HAHAT G €A1 higd =gl X Il gl 38 Th UH IfFd Sl 3aeTehdT ¢
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S 9 TaT A Gehal At
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What is the marketing concept? How does it help in the effective marketing
goods and services?

OR
What are the factors affecting determination of the price of a product or
services? Explain.

fquoer 3rauRoT AT §2 98 A v aEqgat 3R dEnt # Fu Aeg
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